ROTHE—EHENY FHE—LAE (—B0MW) R 9H6H

—ETHEHEE BF9 - XTS5

(BFAY—F) BRAY— FE
MCBOC | amett-raa| ansspran]l  MET 7o e | 240 | Al | Beal8ka]E8a] Ei Wtz | F—Lh
MCBOC W SEk = A =t Y § 0 0 12 ] 22| s1 1 1 | mceoc
0 8] @] O
s — 14 10— s|s — uf1z — 7] " 3 " | = " . s
x [6) X o
=TT EC I 4= 318 = W T =288 =% 1 1] 3 3 =T 27 4 3 Wb rA
® * x (8]
Mer PRl Spld == 1 Sl ] 0 1 g 9 45 2 4 | awssvrss
x (] 0 £
PPl it B 1215 — 87 — 1 0 0 4 o [ -20 | 2 5 5 [Frg=
x X X I X
(BFBY—%) BFEY — Mk
FrvoTy 7| WillWeeds| BHEN Vaddies | Bt | <t | &l | Beta]@En]esa] B M | F-LB
FrLUT LT 3_Sph = e 0 -2 19 4 1 KAl
x x x
Y Waeds) 1~ — 5 i — Gl — 10 1 I T 2 | W Weads
O * Py
gy 32— Tyt 1 R ok 0 20 | 35 1 3 | Vaddies
O ] ]
vaidins ety A e Ab 1 0 24 3 PR
T
[&ZFY—7]
wFY — TR
mEehicd | SYURAN | weLovedtd | wererimes | Ho—8 S| B | 4MF | &Y | Bba) 8k #8m] Wil Bz | F—L%H
mmDRIcH e Bl K ez Sodiadt. | Minedt Y 0 0 & | -10] 18 3 1 | sestieens
* O b @)
syuran p2 — 4 20~ a3 o 1 1 7| s | s 2 2 | syuran
5 A X 0
PR Y (LA Lol Jindic . Baeial i 1 2 4 -4 26 4 3 | wmehicn
% A X 0
R (. Sna s Sl Ve el L el 0 o | 12| 32| 48 1 4| WeLovts
0 € o | 0
P Lesdi K Lok 8.5 Bfs — 1 a 0 4 o | 15 ] 20 5 5 HC—EM‘1
x X X l X

(Bragt-F+Avt]

EBFIMEF A F]

|

T - g
8 = & b =

[5F)
I# ¥ MCBOC
Sl HRE
W3 MAET

[x¥F]
& B W AL Yarday
SYURAN
Rl CH




